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3 — 7 vk |FL—r3—2 Lk, 400~450g AV 100g 37 37 0.0 2.8
o BN, LA R, 73w 2735 (10fHAD) 137 206 206] 0.0 4.0
EI5NAED kg 898 951 -5.6 1.7
& SPete 1kg 593 605| -2.0 -
DR S/ AN 1kg 265 273 -2.9] 113
72 ¥ R & FRERTEER 1kg 220 216 1.9 -9.8
o~ k kg 565 573 -1.2| <77
A 1 ARSI, I 100g 23 23] 0.0 4.5
oo [T 100g 172 173 -0.6] -3.4
b A 5L, 1{H200~400g 1kg 403 420 -4.0f -23.4
SN 1kg 232 229 1.3 -4.9
R W [Fvs—T(erha) i, RUREAD (1, 000gAY) 14 311 311 0.0 -14.3
AR T Bk BE BEN D=1, RS (4008 AD) 1R 315 315 0.0 5.7
va *  |WHbIva— M —F (1{H60~100g) 100g 428 428 0.0 17.3
T A AT Y — K |R=FTAAZY)— L, Ty AD (120mLAY) 11# 263 278 -5.4 0.4
I+ e RO Y, FONFY, I 14 494 494 0.0 0.0
T L (F %) |HBIRVTL, I2EFL, 8~10fEAY, i 137 498 498| 0.0 0.0
[ AV =S S 2 100g 185 185 0.0 -16
nB BT |EA, EReL 100g 164 164] 0.0 5.1
&K OEOBE [RRASECEE, Xy RRRVAD (500mLAY) 14 92 90 22| -3.2
v — b |, HAD(350mLAD), 615 AD 137 1,184 1,159 2.2 2.2
N —F AR 11 743 743 0.0 0.0
B A e, A 1R 524 524 0.0 0.0
v — L (4 R) [BREIEIZBITDE —LAR, i, FE(500mLAY) 14 500 5001 0.0 0.0

FAEMERFSE, AREROT . ARERYIE. LR TR TEO3EFEEIToTRY ., ZRUAMNITROLMEL TOET,
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e mioA | oA AR
V3 an NG
& 5] # ] 7 h T o |AA K
2H 1H % %
e AE A b A 17H - .
ZFE (R E) |REFES 3307 3,635| 3,624 0.3 0.7
J.0m
kT i FTIh, B ZIED, JHEEED 18L 1,848 1,758 5.1 12.4
_ L NBE e MR IRERA S AT, oL — M, BERAL CERRIEEE /) IRE2. 8kW, IEES. 6 N . Y _og
T RET A kW, GEE )6, 7T~7. 2, 7oV S — HBNEREIEN S, mrkiepiettx | 1T | TTL9OT) 170.933) 23] 260
B 7 v 7 KT, BRI, 3ER, 30WH 1R 980 980 0.0 17.4
e R TE A ARSI, MR S RRHER, ByOR, D (1. Okg AV) 15 318 318 0.0 -1.5
NN o 3 = — b4z 0, b= o/ | R S VEL 5
ATy s 2| /(7\;‘ GEM) 7 =2, THi100%) SULTHEO5% UL k- RUT L2 AR ), (ARXIW64 A 3313|3313 0.0 0.0
~70cm, Hifkih
N — F — =T, TRA UL 704, (FEM) TR A L, (XM, b 142 3,313 3,313 0.0 6.2
N HE TR, (R, UR)GRE S, URORE]RVAHT, (A4 R])23~24cm, Hifkdh 12 10,290 10,290 0.0 0.0
F U H FEEESEEANG, FAD (100mL X 104AD) 154 913 913 0.0 -6.8
e (Lo RV TTAF LR, JEERTIL VR, S, BYTERL. 60, UVAvh, i@, (71— 5% ]
BB |l o - (GaY), i, TR E AT 1| 2066T) 20667)  00) 95
HEhsEH ) |LXag—aY)r, 73— AR E L 1L 154 150 2.7 7.1
B ORE [ REEERNE:, BARZRUBERY, 7 AT 7 VNG, VR B 174 9,167| 9,167 0.0 0.0
- . |ESTLE, 32VAL M TSV TF a— ) — 25N, B Var ks SRV, LED/Sy 2T Ak PN . ; g
A ot od 14 51,200 51,200 0.0 29.0
Mo—=u TRy a7y, (BEIARY 27 1100%, (A RIS~L, il 1A 5,723| 5,723 0.0 37.5
Me OB OB | 1[A] 1,700 1,700 0.0 0.0
o2 B [RAWREZOIvN, ==, v T —, By b, Bk (ERELL T EERS) 1[8] 3,873 3,873 0.0 -
70— A |ATrkUL SRR, 40g A0 i 5,250| 5,250 0.0 0.0

(71) 72X ERR244ET H $7H L IE
(FE2) VAT 8 A ~101X 2835 ), ZH LS ORHHIZI S0,
(73) BEEZEL Rk 254E 1 A $8i it

_11_




